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Questions 1 to 4 carry 2 marks each. For each question, four options are given. 
Make your choice (1, 2, 3 or 4) and write your choice in the bracket provided. 
All diagrams are not drawn to scale. (8 marks) 

1. Dennis had 49 stickers and Ray had 28 stickers. What was the ratio of the
number of stickers Ray had to the total number of stickers they had
altogether?

(1) 7 : 11 

(2) 7: 4

(3) 4:11 

(4) 4: 7

2. ACE is a triangle. Which of the following is the height of triangle ACE when
AC is the base of the triangle?

(1) AE

(2} BE 

(3) CE

(4) CD
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